FOM12

Ch1 Notes:
Using the TVM Solver







N = # of payments (years * PY) 
I = Interest rate as % (don’t need to convert to a decimal) 

PV = present value (will be negative for money going into the bank)
PMT = amount of a recurring payment or investment (negative for $ going in, zero if none)
 
FV = future value (will be positive for money coming out of the bank) 
P/Y = # of payments per year (how often I put $ in, default=1 even if no payments are made)
C/Y = # of compounding periods per year (how often bank pays me, type this after PY)
BEGIN END = when payments are made (usually BEGIN for investments, but not always)

Ex1. 
Find the end value of $700 invested @ 6% compounded quarterly for 3 years

	N
	I (%)
	PV
	PMT
	FV
	P/Y
	C/Y
	PMT

	
	
	
	 


	
	
	
	








                                1)___________________

Ex2.  
How much money must be invested today, at 3% compounded semi-annually, for the accumulated amount to be $5000 after 10 years?

	N
	I (%)
	PV
	PMT
	FV
	P/Y
	C/Y
	PMT

	
	
	
	 


	
	
	
	










2)___________________

Ex3.  
A sum of $350 is invested for 7 years, and compounded semi-annually. At the end of 7 years the investment is worth $500. What was the rate of interest?

	N
	I (%)
	PV
	PMT
	FV
	P/Y
	C/Y
	PMT

	
	
	
	 


	
	
	
	










3)___________________

Ex4.  
How many years would it take a lump sum payment of $500 invested at 19.2%, compounded monthly to grow to $850?

	N
	I (%)
	PV
	PMT
	FV
	P/Y
	C/Y
	PMT

	
	
	
	 


	
	
	
	










4)___________________


Ex5.  
Terra invests $100 each month into an investment that earns 7% compounded monthly.  How much will she have accumulated in 5 years?

	N
	I (%)
	PV
	PMT
	FV
	P/Y
	C/Y
	PMT

	
	
	
	
	
	
	
	










5)___________________


Ex6.  
Danielle needs $6000 for tuition.  If she has two years to save up, and she can earn 6.5% compounded annually, how much must she put aside every month?

	N
	I (%)
	PV
	PMT
	FV
	P/Y
	C/Y
	PMT

	
	
	
	 


	
	
	
	










6)___________________

Ex7.  
Brock invests $50 every week into an investment that earns 6% compounded quarterly.  How many payments must he make to accumulate $3000?  How many years is this?

	N
	I (%)
	PV
	PMT
	FV
	P/Y
	C/Y
	PMT

	
	
	
	 


	
	
	
	











7)___________________
